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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 7 printed pages.

• Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the candidate.

• Please check that this question paper contains 25 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 25 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

BUSINESS STUDIES

O;kolkf;d v/;;uO;kolkf;d v/;;uO;kolkf;d v/;;uO;kolkf;d v/;;uO;kolkf;d v/;;u

Time allowed : 3 hours Maximum Marks : 100

fu/kkZfjr le;fu/kkZfjr le;fu/kkZfjr le;fu/kkZfjr le;fu/kkZfjr le; : 3 ?k.Vs?k.Vs?k.Vs?k.Vs?k.Vs vf/kdre vadvf/kdre vadvf/kdre vadvf/kdre vadvf/kdre vad :  100

General Instructions :

(1) Answers to questions carrying 2-3 marks should not exceed 30-40 words.

(2) Answers to questions carrying 4-5 marks should not exceed 60-80 words.

(3) Answers to questions carrying 6 marks should not exceed 100 words.

(4) Attempt all parts of a question together.
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lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

(1) 2&32&32&32&32&3 vadksa okys iz'uksa ds mÙkj 30&4030&4030&4030&4030&40 'kCnksa ls vf/kd u gksaA

(2) 4&54&54&54&54&5 vadksa okys iz'uksa ds mÙkj 60&8060&8060&8060&8060&80 'kCnksa ls vf/kd u gksaA

(3) 66666 vadksa okys iz'uksa ds mÙkj 100100100100100 'kCnksa ls vf/kd u gksaA

(4) fdlh iz'u ds lHkh Hkkx lkFk&lkFk gh gy dhft,A

1. How does marketing help a firm to build goodwill in the market ? 2

foi.ku] cktkj esa fdlh O;olk; dh [;kfr cukus esa fdl izdkj lgk;rk djrk gS \

2. What is meant by the selling concept of marketing ? 2

foi.ku dh fcØh vo/kkj.kk ls D;k rkRi;Z gS \

3. State any two functions of lower-level management. 2

fuEuLrjh; izcU/k ds dksbZ nksnksnksnksnks dk;Z crkb;sA

4. What is meant by 'economic environment' of business ? 2

O;olk; ds ^vkfFkZd okrkoj.k* ls D;k vk'k; gS \

5. Enumerate any two functions of a supervisor. 2

i;Zos{kd ds fdUgha nksnksnksnksnks dk;ks± dh x.kuk dhft,A

6. "All managers are leaders, but all leaders are not managers." Do you agree with this
statement ? Give any three reasons in support of your answer. 3

^^lHkh izcU/kd usrk gksrs gSa] ijUrq lHkh usrk izcU/kd ugha gksrsA** D;k vki bl dFku ls lger gSa \ vius

mÙkj ds leFkZu esa dksbZ rhurhurhurhurhu dkj.k nhft,A

7. Enumerate any three market related factors that should be kept in view while taking

decision on the choice of channels of distribution of any product. 3

fdlh mRikn ds forj.k ek/;e dk pquko djrs le; ftu ckt+kj lEcU/kh ?kVdksa dks /;ku esa j[kuk pkfg,

muesa ls fdUgha rhurhurhurhurhu dh x.kuk dhft,A
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8. State any three features of Public Relation. 3

tulaidZ dh dksbZ rhurhurhurhurhu fo'ks"krk,¡ crkb;sA

9. An organisation follows the principles of management. What are the adverse effects

of each of the following principles of management on the organisation ?

(i) Unity of command,

(ii) Order, and

(iii) Stability of Tenure of personnels 3

,d laxBu] izcU/k ds fl)kUrksa dk ikyu djrk gSA laxBu ij izcU/k ds fuEufyf[kr izR;sd fl)kUr dk

izfrdwy izHkko D;k gksrk gS \

(i) vkns'k dh ,drk]

(ii) O;oLFkk] ,oa

(iii) deZpkfj;ksa ds dk;Zdky esa LFkkf;Ùo

10. How does motivation improve the efficiency of workers in an organisation ? Give any

three points 3

fdlh laaxBu esa vfHkizsj.kk Jfedksa dh dk;Zdq'kyrk dks fdl izdkj lq/kkjrk gS \ dksbZ rhurhurhurhurhu fcUnq nhft,A

11. You are the representative of workers in a factory and want to impress upon the
management the need for introducing time-rate system in place of existing piece-rate
system of wage payment. What four reasons would you like to give to the

management to justify your viewpoint ? Explain, in brief. 4

vki fdlh dkj[kkus esa Jfedksa ds izfrfuf/k gSa rFkk vki izcU/kdksa ij ;g izHkko Mkyuk pkgrs gSa fd orZeku

dk;kZuqlkj et+nwjh Hkqxrku fof/k ds LFkku ij le;kuqlkj et+nwjh Hkqxrku fof/k ykxw dh tk;sA izcU/kdksa dks viuk

n`f"Vdks.k mfpr fl) djus ds fy, vki dkSu ls pkjpkjpkjpkjpkj dkj.k nsuk pkgsaxs \ la{ksi esa O;k[;k dhft,A
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12. Distinguish between the features of National Stock Exchange of India (N.S.E.I) and
Over The Counter Exchange of India (O.T.C.E.I.) on the basis of

(i) size of company

(ii) securities traded,

(iii) settlement, and

(iv) objective. 4

(i) dEiuh dk vkdkj]

(ii) ysu&nsu gksus okyh izfrHkwfr;k¡]

(iii) fuiVkjk] ,oa

(iv) mís';]

ds vk/kkj ij Hkkjr dk jk"Vªh; 'ks;j cktkj ¼,u-,l-bZ-vkbZ-½ rFkk vksoj fn dkmUVj ,DlpsUt~ vkWQ bf.M;k

¼vks-Vh-lh-bZ-vkbZ-½ dh fo'ks"krkvksa esa vUrj Li"V dhft,A

13. "Securities and Exchange .Board of India (SEBI) is the watchdog of the securities

market." Do you agree ? Give four  reasons in support of your answer. 4

^^Hkkjrh; izfrHkwfr ,oa fofue; cksMZ ¼lsch½ izfrHkwfr ckt+kj dk fgrizgjh gSA** D;k vki lger gSa \ vius mÙkj

ds leFkZu esa pkjpkjpkjpkjpkj dkj.k nhft,A

14. Describe, in brief, Taylor's principles of

(i) Science, not the rule of thumb, and

(ii) Harmony, not discord. 4

Vsyj ds fl)kUrksa

(i) foKku] u fd :f<+okfnrk] rFkk

(ii) leUo;] u fd erHksn]

dk la{ksi esa o.kZu dhft,A

15. Define the term 'Organisation Structure' and enumerate any three considerations to

be kept in mind while building an organizational structure. 4

^laxBu <k¡ps] dh ifjHkk"kk nhft, rFkk laxBu <k¡ps ds fuekZ.k ds le; /;ku esa j[kus okyh fdUgha rhurhurhurhurhu ckrksa

dh x.kuk dhft,A



5

16. "Controlling helps in achieving objectives of the organisation and improving

employees' morale." Explain this statement, in brief. 5

^^fu;a=k.k] laxBu ds mís';ksa dh izkfIr rFkk deZpkfj;ksa dk eukscy c<+kus esa lgk;rk djrk gSA** bl dFku

dh la{ksi esa O;k[;k dhft,A

17. Explain any five points of importance of financial planning. 5

foÙkh; fu;kstu ds egÙo ds fdUgha ik¡pik¡pik¡pik¡pik¡p fcUnqvksa dh O;k[;k dhft,A

18. You are a newly appointed finance advisor in a company and found that the company
is over-capitalised. The management does not agree with your findings. Convince the

management by giving five reasons in support of your viewpoint. 5

vki fdlh dEiuh esa uo fu;qDr foÙk lykgdkj gSa rFkk vkius ik;k fd dEiuh vfriw¡thÑr gSA izcU/k

vkids fu"d"kks± ls lger ugha gSA vkius n`f"Vdks.k ds leFkZu esa dksbZ ik¡pik¡pik¡pik¡pik¡p dkj.k nsrs gq, izcU/k dks fo'okl

fnykb;sA

19. "Management is regarded as fully-developed profession." Do you agree ? Give

reasons. 5

^^izcU/k iw.kZ :i ls fodflr is'kk le>k tkrk gSA** D;k vki lger gSa \ dkj.k nhft,A

20. Explain any five positive impacts of globalisation and liberalisation on business and

industry in India. 5

Hkkjr esa fo'oO;kihdj.k ,oa mnkjhdj.k dk O;olk; rFkk m|ksx ij vuqdwy izHkkoksa esa ls dksbZ ik¡pik¡pik¡pik¡pik¡p izHkkoksa dk

mYys[k dhft,A

21. Why is the employees' training necessary in an organisation ? Explain in brief  any six

reasons. 6

OR

Explain, in brief, any six steps involved in the selection procedure of employees.

fdlh laxBu esa deZpkfj;ksa dk izf'k{k.k D;ksa vko';d gS \ fdUgha N%N%N%N%N% dkj.kksa dk la{ksi esa o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok

deZpkfj;kas dh p;u izfØ;k esa fufgr fdUgha N%N%N%N%N% pj.kksa dh la{ksi esa O;k[;k dhft,A
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22. Explain, in brief, any six remedies available to consumers under the Consumer

Protection Act, 1986. 6

OR

Explain, in brief, any four  rights of consumers as provided under the Consumer
Protection Act, 1986.

miHkksDrk laj{k.k vf/kfu;e] 1986 ds vUrxZr miHkksDrkvksa dks miyC/k fdUgha N%N%N%N%N% mipkjksa dh la{ksi

esa O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

miHkksDrk laj{k.k vf/kfu;e] 1986 ds vUrxZr miHkksDrkvksa dks miyC/k fdUgha pkjpkjpkjpkjpkj vf/kdkjksa dh la{ksi

esa O;k[;k dhft,A

23. Explain the various factors which should be considered before taking decision on the

choice of a particular medium of advertising for a product. 6

OR

You are the marketing manager of a company manufacturing toy car. Which media
would you choose for advertising your product ? Explain in brief, any five reasons in
support of your answer.

fdlh mRikn ds fy, ,d fo'ks"k foKkiu ek/;e dk pquko djus ls igys ftu fofHkUu ?kVdksa dks /;ku esa j[kuk

pkfg, mudh O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

vki fdlh dEiuh esa tks f[kykSuk dkj dk fuekZ.k djrh gS] ds foi.ku izcU/kd gSaA vki vius mRikn ds foKkiu

gsrq fdl ek/;e dk pquko djsaxs \ vius mÙkj ds leFkZu esa dksbZ ik¡pik¡pik¡pik¡pik¡p dkj.k la{ksi esa le>kb;sA

24. Explain, in brief, any six features of planning. 6

OR

Defining 'organisational objectives' is the first step in the process of planning.
Explain, in brief, the other steps of this process.

fu;kstu dh fdUgha N%N%N%N%N% fo'ks"krkvksa dh la{ksi esa O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

^laxBukRed mís';ksa* dks ifjHkkf"kr djuk fu;kstu izfØ;k dk izFke pj.k gSA bl izfØ;k ds vU; pj.kksa dh

la{ksi esa O;k[;k dhft,A
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25. Distinguish between formal and informal organisations on the basis of

(i) formation,

(ii) purpose,

(iii) structure,

(iv) behaviour of memebers,

(v) stability, and

(vi) adherence to rules. 6

OR

"Authority can be delegated but accountability cannot." Explain the statement.

(i) lajpuk]

(ii) mís';]

(iii) <k¡pk]

(iv) lnL;ksa dk O;ogkj]

(v) LFkkf;Ùo] ,oa

(vi) fu;eksa dk ikyu]

vk/kkj ij vkSipkfjd rFkk vukSipkfjd laxBuksa esa vUrj Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

^^vf/kdkj dk vUrj.k fd;k tk ldrk gS ijUrq mÙkjns;rk dk ughaA** bl dFku dh O;k[;k dhft,A


